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BEANRE S HI64 FE B PIBR R A - R SR 0 RS (- 1 4m) B SR B

£ g g - BAKTIE BfT 8 2 B ki £ m =
EERAEE 8,152, 595
HMSIFEER 8,152, 595
HMSIFEER 8,152, 595
HSFEE 8, 056, 595
BEEE 588, 226
1 REERE 1.00 588, 226 588, 226
=
HSFEE 5, 641, 808
2 #fF - B 1.00 2,075, 892 2,075, 892
#H
3 HsEE M) —RFEE. @AM 34.70 37,028 1,284,871
km
4 HSEE0)-2 —RIFEE. FARA 24.70 41,215 1,018,010
km
5 BSEE (2)-1 HRZFEEN). AR 9.40 37,028 348, 063
km
6 WRIFEE Q)2 HEZEEQ) . AR 11.30 41,215 465, 729
km
1 MKEE Q-3 HEZEEQ. AR 10. 90 41,215 449, 243
km
fRMT 1,643, 861
8 ERAEM 48.20 34,105 1,643, 861
km
EE R 182, 700
9 EHRIRE 1.00 60, 900 60, 900
]




BEANRE S HI64 FE B PIBR R A - R SR 0 RS (- 1 4m) B SR B

% R R - RARSTiE BfL % 8 B ® # m o=
10 PREHRE 1.00 60, 900 60, 900
=]
11 HRE|E 1.00 60, 900 60, 900
=]
BEERE 96, 000
S 96, 000
12 %R 1.00 96, 000 96, 000
=




WIER HHN6E E R FIMRR (K E P - R P 1 KM - 14m) B R IR E

% g R - KSR Bifr B 2 B i & B W =
ERAEE 4,607, 860
ERE 4,607,860 x 71.9% — 911 3,312,140
REEHE 4,607,860 + 3,312, 140 7,920, 000
BRI 3,448,735 + 96,000 3,544,735
EEAGE 3,448,735
EERE 96, 000
T DR 3,448,735 x 53.85% ( 35% + (1 — 35%) ) 1,857,143
RHRIE 3,544,735 + 1,857,143 5,401,878
—REEES 5,401,878 x 53.85% ( 35% = (1 — 35%) ) — 789 2,908, 122
BEHES T 5,401,878 + 2,908,122 8,310, 000
KBS 7,920,000 + 8,310,000 16, 230, 000
HEREELE 16,230,000 x 10.00% 1,623,000
HRREXB(IEE 16, 230,000 + 1,623, 000 17, 853, 000
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

H#5 1
275 REER 1XEY
2 b g - BIRTE By = B 4 ) # i

HEnE

A 1.00 75, 800. 00 75, 800
FEHRAR (F%ET)

A 2.50 64, 800. 00 162, 000
AR (A)

A 2.50 57,000. 00 142, 500
HEm (B)

A 1.00 47, 200. 00 47,200
AR (C)

A 0.50 38, 400. 00 19, 200
BIEFEHEM

A 1.00 54, 600. 00 54, 600
RIS HRER

A 1.00 47,100. 00 47,100
Bl S H A

A 1.00 36, 900. 00 36, 900
MR 2E0%

% 0.50 585, 300. 00 2,926
& B 1E%HeH - 1.00K 588, 226. 00 588, 226
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

&5 :2
25 EilE - BE IED)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 5.00 3,318.00 16,590 2. 00H / 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 2.50 23,925. 00 59, 812
5fin D 200PSEY
B 1.25 197, 764.00 247,205 6.00H / 8H
HAEER FRP
B 3.75 58, 410. 00 219,037 8H
FEHRAR (F%ET)
A 3.75 64, 800. 00 243, 000
AR (A)
A 5.63 57,000. 00 320,910
HEm (B)
A 4.38 47, 200. 00 206, 736
RIS HRER
A 2.50 47,100. 00 117,750
Bl S H A
A 2.50 36, 900. 00 92, 250
BEBF
A 7.50 34, 600. 00 259, 500
BIEHEE
A 7.50 25,900. 00 194, 250
MM 2E0%
% 5.00 1,977, 040. 00 98, 852
& B 1YE%HEH - 1.0048 2,075, 892.00 2,075, 892
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

&5 :3
W BEREE -1 —XiEE. @AR 1BHY (18.7km)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
5fin D 200PSEY
B 1.00 197, 764.00 197,764 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 678, 848. 00 13,576
& B 1E%RESN 1 18. 70k m 37,028. 00 692, 424
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

Hz5 .4
W MKREE) -2 —XIFEE. FAR 1B%Y (16.8km)
2 b g - BIRTE By = B ) W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
5fin D 200PSEY
B 1.00 197, 764. 00 197,764 6.00H / 8H
HEAH FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER WMSIEEETRIEE O /L, HEIEes. EkER
B 1.00 23,925. 00 23,925
GNSS:AIfI £ & DGNSS
B 1.00 25,575.00 25,575
BERIREE 1AM 100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEENF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 678, 848. 00 13,576
& B 1E%RES 1 16.80k m 41, 215. 00 692, 424
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

&5 :5
W MREE Q-1 ERZFEEO0). mAR 1BHY (18.7km)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
5fin D 200PSEY
B 1.00 197, 764.00 197,764 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 678, 848. 00 13,576
& B 1E%RESN 1 18. 70k m 37,028. 00 692, 424




Rifiz -/ \v7r—o

HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

&S5 :6
B BMREE Q-2 HBZFEEQ. FAR 1BHY (16.8km)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
5fin D 200PSEY
B 1.00 197, 764.00 197,764 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 678, 848. 00 13,576
& B 1E%RES 1 16.80k m 41, 215. 00 692, 424
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

&5:7
B MRIEE Q-3 ERZFEEQ). FAR 1BHY (16.8km)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
5fin D 200PSEY
B 1.00 197, 764.00 197,764 6.00H / 8H
HAEEM FRP
B 1.00 58, 410. 00 58, 410 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
BERIREE 15m  100kHz
B 1.00 9, 256. 50 9, 256
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 678, 848. 00 13,576
& B 1E%RES 1 16.80k m 41, 215. 00 692, 424
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

5.8
B . BREN 100km= Y
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 12.00 64, 800. 00 7717, 600
AR (A)
A 16. 00 57,000. 00 912, 000
HEm (B)
A 16. 00 47, 200. 00 755, 200
RIS HRER
A 8.00 47,100. 00 376, 800
Bl S H A
A 8.00 36, 900. 00 295, 200
BEBF
A 8.00 34, 600. 00 276, 800
MR 2E0%
% 0.50 3,393, 600. 00 16, 968
& B YEZERES : 100.00k m 34, 105. 00 3,410, 568
59
¥ BATHE HEED)
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 0.50 57, 000. 00 28, 500
& Hi 1YEZHER - 1.00[E 60, 900. 00 60, 900
&5 :10
& PRERE HEED)
2 b g - BIRTE By = BHoO(f %8 # " =
FEHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 0.50 57, 000. 00 28, 500
& Hi 1YEZHEH - 1.00[E 60, 900. 00 60, 900
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HHN6EEEFIMIR(KHF -R B P th RSB - 14mBE SR E

&5 11
£ EW|E HEED)
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 0.50 57,000. 00 28, 500
& Hi 1YEZHEH - 1.00[E 60, 900. 00 60, 900
&= 12
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f %8 # " =
EBHRERERE
= 1.00 96, 000. 00 96, 000
& Hi 1E%HeH - 1.00K 96, 000. 00 96, 000




